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Step Method for Solving Nonlinear Two Delays
Differential Equation in Parkinson’s Disease

H. N. Agiza, M. A. Sohaly, M. A. Elfouly

Abstract—Parkinson's disease (PD) is a heterogeneous disorder
with common age of onset, symptoms, and progression levels. In this
paper we will solve analytically the PD model as a non-linear delay
differential equation using the steps method. The step method
transforms a system of delay differential equations (DDEs) into
systems of ordinary differential equations (ODEs). On some
numerical examples, the analytical solution will be difficult. So we
will approximate the analytical solution using Picard method and
Taylor method to ODEs.
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I. INTRODUCTION

D occurs when not enough dopamine is secreted into the

nerve cells in the brain. Its causes may be be
environmental, as a result of exposure to chemicals or genetic
causes. It mostly affects the elderly, especially after sixty. The
patient may have several movement symptoms, trembling of
the hands and arms, as well as slow movement and stiffness.
There are neurological symptoms such as depression and
psychosis.

There are medications that reduce symptoms and help
produce dopamine. Also, surgery is used for late cases, and
currently deep brain stimulation is used to treat Parkinson's
Symptoms.

PD has been studied mathematically in [1]-[6] as in the
following DDEs:

dx(t) _ a
dt
x()=h,t>0 and

1 X(t-71 )+ag X(t-7p )+ag x(t-7q x(t-72 ) (D

-T2 <-Tl<t<0

where, a; ,ap ,ag are constant coefficients, x(t) the function

described PD, h history value. In [1] the time series method
was used to create a model for PD. The authors in [6]
discussed Claudia model in [1] and have endorsed that it is
unbounded and unstable for the case of positive coefficients,
but this is not true for the biodynamic systems. Moreover, the
authors in [6] try to suggest some modifications for Claudia
model in [1] to be bounded for this case as follows:

%:al X(t-71 )+ag X(t- 9 )+ag X(t-73 X(t-75 )-x2 (2)

x()=h,t>0 and -7, <-r; <t<0
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with stability conditions: a; +a, + ag<1 and for more
stability by the condition:

a;+a
28272 .o

a;+as +
pra A

We will give study numerical cases for two models using
step method for solving DDE. The methods of steps transform
a system of DDEs into systems of ODEs.

The width of each step depends on the values of the delays,
if 7, =nzy where N are positive integer number the width for

every step is 71 if o #£NT the width of step is 71 until
7o -Nry <7p then the width of steps is ; 7, - nzyhence, the
width will be the smallest of values of (TZ -ngy or
(n+1)r - 12); the smallest width will be the width of all next

steps. For improving that we can give the following cases:
Casel. If 7, =nz; then the steps will be: [O,Tl]a [11,211],

[271,371)>--[(n- D)y, 72 > [r2 (N + 1)z ] -
Case2. If 7, <274 and Ty -1y <21y —7, then the steps will

be: [0,1]s [r170) [r2.20, -7
If 7, <2z-1and 7,7, >20, - Ty then the steps will
b [0n)  [mwl  [m2al
[41'1 ) ,611 — 212], .........

[22'2 -7 ,3T2 - 2‘[1]:

[21'1,41'1—2’2]:

Case3. If 27, <7,<37; and 7,-20, <371, -71, then the
steps will be: [0,z1]. [7,201]s [27,5,)s [r,27, = 274];
......... If 27, <1,<31; and 7,-21,>30, -1, then the steps
will be: [0,71]. [ry,201], [271,75]s [r235) [Bry67 -7

In the following sections, we will give numerical examples
illustrating the step method.

II. STEP METHOD FOR MODEL [1]

Using step method and considering 7,<27; and
Tz ‘Tl >2T1—72:
First Interval [0, |
PO o heayhragh?,  x@)=h O

dt

Second interval 7,7, |
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M=<’311 xp(t=7)+agh+aghx(t-71),  xo(71)=x(71) @)

dt

Third interval [12 ,211]

dx3(t)
dt
x3(72)=X(72)

=ay x(t-71)+ay x(t-z3)+ag xq(t—7 )x(t-72),

)

Fourth interval [22-1 Aty — 2-2]

dxa (t) _
dt
X4(271 )= %3(271)

ag Xp(t—7)+ay x(t—7)+ag xp(t—7)x(t-73),

(6)

By solving the above initial value problems we can solve
the nonlinear two delays differential equation in (1) as
following for first, second and third steps:

First step

xq(t)=h+hyt
hl =q +a3h
h2 = hlh +3.2h

Second step

Xp(t) = hy + hyt + hst?

2
hy =h+ 7L
2
h4 = h2 —T1h1h2
hihy
hs ===
ST

Third step

X3(t) = hg + ht + hgt? + hot?

agdshg  aydfhy  agdfhh, agdydshg
2 2 2
h7 = h4 - a2d2h2 + a3d1d2h22 - a3d2hh2

hg =hg+

2 2
hg :%4_ 8.22h2 + a3hh2 ) a3d21h2 ) a3d22h2
_ agh}

=73

III. STEP METHOD FOR MODEL [6]

For the positive values of a; ,a, ,ag and h the system is

unbounded and unstable. The author in [6] considers
modification to the system in (1) to be bounded as follow:
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dx(t) _
dt
x()=h,t>0 and

ag X(t-71 )+ X(t-75 )+ag X(t-71 X(t-1p )- (x®)Y (7

-9 <-11<t<0

Using step method with assuming conditions 7, <27, and
Ty =Ty >271—Ty:
First interval [0,z |

LX]_(t) = h+ a h+ as h2 - (Xl(t))z , Xl(O): h (8)

dt

Second interval [z 75 |

)

D20 _ o) xy(t-ry)+ap hag hig(t-)-(®F,  %o(r)=x(z1)

dt

Third interval [z, 271

ddet(t) =ay x(t—77)+ap X (t—73)+ag X (t -7 )xy(t—73) — (x3(®)?,

x3(72)=xp(72)

(10)

Fourth interval [27; 47; — 75|

%:al Xo(t—11)+ap xq(t—73)+ag Xp(t -7 xq(t—13) ~ (x4 O,

X4(271)=X3(277)

an

It is very difficult to solve initial value problem. So first we
will use Picard method for solving all initial value problems;
but we must satisfy Lipchitz conditions for all steps. All of the
initial value problems (IVPs) satisfy existence and uniqueness
theorem if the function x(t) is bounded as proposed [6]:

dx(®) _
el U0

1>0

of(t, x) <l
oX

t
Xp =X+ [ f(t,xp_p)dt, n=123,..
0

By solving the above initial value problems we can solve
the nonlinear two delays differential equation in (7) as
following for first, second and third steps:

For the first step: The first initial problem

t

x11=h+f(h1—h2)dt, hy = ajh + ayh + azh?
0
xg1=h+ht hy=h —h?

X1p = h + }(hl - (xll)z)dt
0

160 1SN1:0000000091950263



Open Science Index, Mathematical and Computational Sciences Vol:14, No:12, 2020 publications.waset.org/10011637.pdf

World Academy of Science, Engineering and Technology
International Journal of Mathematical and Computational Sciences
Vol:14, No:12, 2020

h2 By solving the initial value problem to every step
=h 2 D .3
X12 =N+ hzt — hhzt — 73 t

1 —3<t<0
il - (027 ;
X13:h+ hl—X12 t
(I) %+% ,0<t<2 (19)
_ o2 (h5-2h%h)t 2hhdtt  (eh3-3h?hd)t® hhdt® ngt’ )
Xi3=h+hy t-hhy t i R o &3 ELI 2<t<3
x(t)=1320 80 80
Thus, the remaining approximations and the remaining steps g1t3 189t2 261t 28753 3<t<4
+ - + 3<t<
are found. 16000 6400 8000 32000
1. Numerical Examples for Model [1] 243t4 . 5713 . 63t2 oot 6309,
We will provide two different examples in the steps for 512000 128000 1600 800 6400 '
model [1] for considering the steps. This model is easy to [

integrate and we will use MATLAB code dsolve to solving
every [VP.
Examplel: Solve the DDE:

step method ex1.

dx(t) _
dt
x(t)=05,t>0 and -3<t<0

0.1x(t-2)+0.2 X(t - 3)+0.3%(t - 2)x(t - 3) (12)

solution x

First step [0 ,2]

%zo.zzs , x1(0)=05 (13)

Second step [2 ,3]

0 I I I I I I I I I I I I I
0 05 1 16 2 25 3 35 4 45 5 55 6 65 7 75 8 85 9
time t

dxo(t
dzt()=0.25x1(t—2)+0.1 . %@ =x(2) U4 Fig 1 Modelin[1] 4 =0.1,ay 02,25 203,h =05, =2, 7, =3 bY

step method
Third step [3 ,4] dde ex.

dxz(t)
dt

=0.1%(t- 2) +0.2x (t - 3)+ 0.3xq (t - 2)x(t-3) , X3(3)=%(3)
(15)

Fourth step [4 ,5]

solution x

%Z 0.1X2(t - 2) + 0.2X1(t - 3) + 0.3X2(t - 2)Xl(t - 3) , X4(4) = X3(4)
(16)
Fifth step [5 ,6]

0 1 !
dxjt(t) = 0.1x5(t - 2)+ 0.2 (t - 3) + 0.3x3(t - 2xp(t-3) , X5(5)=Xa(5) 0 05 1 15 2 25 3 35 4 ﬁ:].:‘ 5 55 6 65 7 75 8 85 ¢
(I7)  Fig.2Modelin[1] 4 =0.1,a,=02,a3=0.3,h =057, =2, =3 bY
code MATLAB dde23
General step [d;_;,d;]
Comparing Figs. 1 and 2, we find a great match between the
DGO _ 0 15 (t-2)+ 0.2 5(t-3) + 0.3%,o(t - 2;5(t -3, x (i1 )= %;_1(di.;)  MATLAB code dde23 and the solution using the steps
at method.
(18) Example2: Solve the DDE:
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$=0.1x(t -2)+0.2 X(t-5)+0.3x(t - 2)x(t-5) (20)

xt)=1,t>0 and -5<t<0
First step [0,2]

WO _n6 | x©-=1 @1
dt

Second step [2,4]

%:o.ma-zno.z L %0(2)=x(2) 22
Third step [4,5]

PO _ g a5, t-2)+02 (23)

4)=x,(4
it X3(4) = X2(4)
Fourth step [5 ,6]

%Z 0.1X2('[ - 2)+0.2X1('[ - 5)+O.3X2(t - 2)X1(t - 5) , X4(5) = X3(5) (24)

By solving the initial value problem to every step

1 —5<t<0
3t (25)
241 ,0<t<2
5
32 3t 37
3,3t 37 2<t<4
25 25 25
263 9t2 111t 57

xt)={—-——+t—+— ,4<t<5
125 125 125 125

4 3 2
27t 26t 381° 63t 5601 s<t<s
5000 625 1250 50 1000
o 230t* 344t> 2739t2 117t 516093
- + - +—+ 6<t<7
15625 25000 3125 6250 250 125000

step method ex2.

solution x

Fig. 3 Model in [1] a=0.1,8,=02,a3=03,h=1,7y=2,7,=5 by
step method
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o

Fig. 4 Model in [1] g, -0.1,a,=0.2,a3=03 ,h=1,71=2,7, =5 bY
code dde23

Comparing Figs. 3 and 4, we find a great match between the
MATLAB code dde23 and the solution using the steps
method.

2. Numerical Examples for Model [6]

We will solve numerical
approximation as following:

example with higher

dz—f):o.lx(t-z)w.z X(t-3)+0.3x(t - 2)X(t-3) - (X(1)? (26)

Xx(t)=05,t>0 and -3<t<0

First step [0 ,2]

%:O.1><O.5+O.2><O.5+O.3><0.5><0.5-(Xl(t))2 %(0)=0.5

Second step [2 ,3]

dx, (t)

p =0.1x %, (t—2)+0.2x0.5+0.3x X;(t —2)x0.5 - (X, (1))

1%3(2)=%(2)
Third step [3 ,4]
%=0.1x1(t—2)+0.2x1(t—3)+0.3><1(t—2))(1(t—3)-(><3(t))2 X3(3)=%(3)

By using MATLAB program for solving every step we get
the solution in Fig. 5.

By comparison of Figs. 5 and 6, we find that there is a great
match between using the steps method with solving IVP of
every step using the Piccard method and solving it with the
MATLAB command.

IV.  CONCLUSION

As explained in [6] under the condition of positive values
for a, ,a, ,as and h the system in [1] will be unstable and

unbounded which does not exist in biological systems. The
modification in [6] adds square term with coefficient -1. The
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solution of the system is bounded under the condition in [6]
and we use step method to solve the problem with different
delays and explain how to use it.

solution x

step method ex3.

1] S s ey sy S Ry S P
P 4 N T T T [ (Y N B S N SR R
I
0495 N~~~ - T T T T T T T T T
04981 —1-\I—J—d4—+—+—F———l———d4—+—+ -~ —— —— o~ +—
0491 -1 N /o d L L oLl 1]
OONC L
0489 — = = N\ -7 7T T T T T OTa T
0487 — - —1- - NQ~ft-F - F -~ "— 94—+ -t -t -F—I———4—-+—7
0485 — 1= —1— - INJ - L b o - oL ]
[ R S H N O A A A A R N
04 i R TG et et e it B By
0481 - — - -9 — 9 -7 - T " RZ " T T r oo
0479 —1— —l— A= 4 — 4 —F —F Ngl— A — A =4 =+ — b — b —l— =+ — 4 —
04770 - I L LU N b L1
o L
L] e e e T His Hl S e A I A e — 1T T
0473 — 1= 1= A= A4 =4~k — b — = —l— = A — 4 — 4+ — b~ S
04711 — o —1— o bbbl TSN L]
R
0469 — = — =4~ - - TSI T T T T T T T T
0467 — 1= == =4 —+—t b~~~ == A o~ A~
[0 77 O I N O N

0 02040608 1 121416 18 2 22 2426 28 3 3234 36 38 4
time t

Fig. 5 Model in [6] g, =0.1,a,=0.2,a3=03,h=0.5,7=2,7, =3 bY

step method using Picard approximation

dde ex1.
0.5 T T T T T T T T T T T T T T {— T T T
[0 L L ) [ e e
[ N e e e e e e e e e e
0497 - \m —= == = T T T T T T T T T T T T T T T
0495 -\ -l 1 - 011 L Lol o411
N
0493 - - == —I- = - A - A -t -t -t - F-F - TIm ST T At Tt
I O S IO I SO SO SO Y SO S|
e et N e e S S e St e A e A B B
04891 — 1= —I= N —l— ~ = 4 =4 —F —F — b~ = e —l— = = — 4 — 4 ]
LN e e
0487 — =~ — N\ T T T T T T T T T T T T T T T T
04851 — - —l- _1_ OINJ - -1l L Lol o111
X [ [ e e e
S 0483 — -~ m T AN T T T T T T E T T T ST T AT T T T
2 L s S
5 0481 [ N e e e e e T
0.479F — 1= —l— —l— == = — 4 — 4 — Tk~ — = =l == == — 4 — 4 — + —
[ e S R R R L
0477 — - o T T T T T T T T T ST T T T T T T T
04751 — - —l— I J_ J_1_1_1_ L _L_L_1_= o J_d_1_1_|
[ e e e e o
0473 - — = == ===~ "~ - T - T -t -r -~ - T T
0474 - - I bbb 1 DN L]
’ I e
04691 — - —I— —l— = 4 — 4 — 4 — 4+ -+ —F — b = —l—- == —l= d— 4 — 4 — +
T I A A S DO SO B
L e e e e e T S i e e e e e A e
0.465 O
0 02040608 1 12141618 2 22242628 3 32 3436 38 4

time t

Fig. 6 Model in [6] a=0.1,a=02,83=03,h=05,7y=2,7, =3 by

(1]

[2]
[3]

[4]

[5]
(6]

MATLAB code dde23
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